— Fishing at Sea 11.2(4C)A4E

Tom lives in Maine . Every summer, his father and grandfather go
fishing on a boat. Last year, Tom wanted to go fishing too, but his mother

said , “You're too young.”

Further Questions

1) Where does Tom live?
2) What do Tom'’s father and grandfather do every year?

This year, for Tom’s 13t birthday , Tom’s father gave him a fishing rod. He
told Tom, “This summer, you can come fishing with me.” Tom was very

happy . He went to the library to study about fish .

Further Questions

3) What did Tom do at the library?

In 7Ju|y ,they went tothe sea bycar.Itwasavery hot day, andthe
wind was strong. Tom’s mother made themabig lunch toeat
on the boat. In the morning, Tom’s father caught three fish, but Tom didn't catch
any fish. At one o’clock, His father said, “ Let's eat lunch.” After they
ate , Tom caught two fish. “These are cod,” he said. His father caught five
more fish. When they gothome , Tom’s grandmother cooked
some fish for dinner . It was delicious.

Further Questions

4) What did Tom’s mother make ?
5) How many fish did Tom’s father catch that whole day?
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*Choose the correct answer from these choices.

(31) Why couldn’t Tom go fishing last year?
1 He had to study.
2 He was too young.

3 The weather was bad.
4 The boat was too small.

(32) What did Tom get for his birthday?
1 A fishing rod.
2 A book about fish.
3 A boat trip.

4 A toy car.

(33) Where did Tom eat lunch?
1 At home.
2 At the library.
3 On the boat.
4 In the car.

(34) How many fish did Tom catch after lunch?
1 One.
2 Two.
3 Three.
4 Five.

(35) Who cooked the fish for dinner?
Tom’s mother.

Tom'’s father.

Tom’s grandmother.

Tom’s grandfather.
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Answers for “Further Questions’

1) Where does Tom live?
They live in Maine.

2) What do Tom'’s father and grandfather do every year?
They go fishing.

3) What did Tom do at the library?
He studied about fish.

4) What did Tom’s mother make?
She made a big lunch for them to eat on the boat.

5) How many fish did Tom'’s father catch that whole day?
He caught eight fish.

11.2(4C)A4E (s5&6=E4W & EACW)



